FILE: Ol - LEO TEMPLATE.MCDX

w,, =14 cm

h

w

=3 m
hy:=250 mm
ds:=850 mm
w;:=800 mm
py:=60 psf
ps:=80 pcf
pe:=150 pcf
wl:=0.3 kPa

q,:=1000 psf

We=wl-h,=61.67 "
ft

Woyi=py* hy+ pe s W+ (dp—hy) =726.176 l}’_{
W pizp, hyewy=322.917 l;:_f

W= py+ (wy—w,) - (ds— hy) =341.001 l}’—f
Wiotar =Wy + Wi+ W= (1.39.10°) l;:_f

Sliding Resistance

F:=0.25 W, =347.524 l}’_{

LAST SAVED:28/08/15

df

e
Ww e
-‘_
/
Ww Ws
Wi
!
7

PAGE | OF 3



FILE: Ol - LEO TEMPLATE.MCDX LAST SAVED:28/08/15

a:=hy,+0.5+d;=92.52 in
@y =W, + 0.5 =2.756 in
as=wy0.5=15.748 in

ag:= (wp—w,) 0.5+ w,,=18.504 in

Overturning moment

M, :=a-W=(5.706-10") Ibf- }’:

Restoring moment

M, =W, a4+ W ap+ W, a,+ W, (wp—a,) = (1.783.10") lbf'jc—n

M,
FS:= MT =3.124 if(FS>1.5,“Pass”, “Fail”) = “Pass”
Sliding

p= df. 150 pSf
S§:=0.5-d; p=583.269 Ibf

F+3 —930.703 10
ft ft

if (F + % >W , “Pass”, “Fail”\. =“Pass”
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MO ) U)f .
e=—— =4.105 in r:=—2=>5.249 in
Wtotal 6

w, W 6.-W, . .-e 2.W.

- |( et i, tw “’ \|:45.187 kPa

’QUf wf 3' <wf'0.5—e>}

w, W 6-W. .e

i = 1 |( R MR k:Pa\|:5.531 kPa.

daul ‘zé +q,=63.84 kPa

if (qmm < QuuNmin>0 kPa , “Pass”, “Fail”) =“Pass”
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